If all three components must function for the product to function then the product’s
overall reliability is approximately
a. 0.95
b. 0.92
c. 0.90
d. 0.77
(Medium)

58. A product consists of three components arranged as follows:

Ri= R, = Rs =
0.95 0.90 0.95

If all three components must function for the product to function then the product’s
overall reliability is approximately

a. 0.812 o. u\(

b. 0.90

G
. 0 (2SR
(Medium) NO /(
59. A product Goréw t"e{ gnponents afra %’ows

R3 =
0.975

If all three components must function for the product to function, and the product’s
overall reliability must be at least 0.90, then the reliability of the first component, Ry,
must be

at least 0.7750
at least 0.90
at least 0.95
at least 0.972

oo oo

(Hard)



67. The overall reliability of the following system is

0.85 0.88 0.89
0.90 0.92 0.94
a. 0.666
b. 0.778
c. 092
d. 097
(Hard)

68. The overall reliability of the following system is

0.96 0.95 0.92 u\(
0.99 0.97 9 \’esa'\e

a. 0.99

é@é\’\e\l\l pao®

. 0.943
(Hard)

69. A company produces a product consisting of two components arranged as follows:

093 | —— R

Both components must function for the product to function. To achieve an overall
reliability of at least 0.91 without changing the reliability of the 1% component, the
reliability of the 2" component, Rz, would need to be
a. atleast 0.93
b. atleast 0.91
c. atleast 0.955
d. atleast0.98
(Medium)



